BAIEEZATR—LLILOE FIARER(OZVIE) ERL30ESA1HERA

NEEE ENiET EiiE2 EiE3 BN €4 E1iES
(a) EARBEFIH H{I/1H 730 795 866 931 995
(b) XEIRDAVMME BH{r/18 14 14 14 14 14
(c) BE&EFMEIEME (I) H{I/1H 46 46 46 46 46
(d) B#EAKFME(I) QD H{i/1H 4 4 4 4 4
(e) BEAFIME (D) O H{I/1H 8 8 8 8 8
(f) REBEEREME(1)D H{i/1H 27 27 27 27 27
(g) BIHET (1B) atbtc+d+e+f H{I/1H 829 894 965 1,030 1,094
(h) BEfHIzEt (308) fx308 B/ R 24,870 26,820 28,950 30,900 32,820
(i) OEFEEEATME Hfi/H 30 30 30 30 30
(J)) NMEBENEHEME I % 8.3% 8.3% 8.3% 8.3% 8.3%
(k) 1EA{LO) Eiffh & 10.14 10.14 10.14 10.14 10.14
() 1Z21&EA%E (h+i) x (1+)) xkx0.1| A/308 27,344 29,486 31,825 33,966 36,075
BB MH/18 820 820 820 820 820
M/30H 24,600 24,600 24,600 24,600 24,600
1R a8 MH/18 300 300 300 300 300
M/30H 9,000 9,000 9,000 9,000 9,000
BENAEE +EIEBE 60,944 63,086 65,425 67,566 69,675
M/18 820 820 820 820 820
ﬂ RER M,/30H 24,600 24,600 24,600 24,600 24,600
ﬁj F2ERRE a8 M/18 390 390 390 390 390
i& M,/30H 11,700 11,700 11,700 11,700 11,700
2] BENAHEE +EEERE 63,644 65,786 68,125 70,266 72,375
[?I BB MH/18 1,310 1,310 1,310 1,310 1,310
fg M/30H 39,300 39,300 39,300 39,300 39,300
E F 3R an M/18 650 650 650 650 650
= M/30H 19,500 19,500 19,500 19,500 19,500
" BENAEHEE +BEERE 86,144 88,286 90,625 92,766 94,875
BB M/18 1,970 1,970 1,970 1,970 1,970
M/30H 59,100 59,100 59,100 59,100 59,100
EAERRE — M/18 1,380 1,380 1,380 1,380 1,380
M/30H 41,400 41,400 41,400 41,400 41,400
ENAEE )+EIEBE 127,844 129,986 132,325 134,466 136,575

SENES—ERBR 1 ERBAENFERTYT - BCEELIREE 1.2k 15, 000M SHE3EMHE---24, 600 4 --44, 400
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